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In this volume, we will discuss about the ICT PO3.
( P.S: If you can't see what's writen on the pictures, you can zoom in by

holding CTRL+ mouse scroll )

THE ICT  PO3



A =  Accumulat ion
M =  Manipu lat ion
D =  D istr ibut ion  

The PO3(  power  of  3  )  i s  bas ica l ly  composed three
phases  be ing :  

          We can see  i t  in  a  form of  a  bu l l i sh  candle :  
open,  low,  h igh ,  c lose  or  a  bear ish  one :  open,  h igh ,  low,
c lose .
Accumulat ion  be ing  the  range at  the  open.
Manipu lat ion  be ing  when we form the  low under  the
open.
D istr ibut ion  be ing  when we form the  h igh .

We can a lso  see  i t  as  just  a  consol idat ion  be ing  the
accumulat ion ,  the  manipu lat ion  a  ra id  of  one  s ide  of  the
l iqu id i ty ,  and the  d istr ibut ion  the  pr inc ipa l  move .
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Why?



          The  reason for  the  accumulat ion  phase  is  for  the
market  makers  to  enter  as  many  orders  as  they  would
l ike .
          S ince  the  books  don ' t  of fer  enough l iqu id i ty  for
them at  a l l  t imes .  Un l ike  us  reta i l  t rader ,  they  t rade with
enormous amounts ,  so  in  order  for  them to  be  ab le  to
enter  a  t rade,  they  have  to  e i ther  stop people  out  or
wait  longer .
          Th is  i s  why  we have  the  accumulat ion  phase ,  i f
market  makers  are  look ing  to  long,  they  wi l l  accumulate
in  an  area  where  reta i l  t raders  might  th ink  we are
bear ish ,  so  they  wi l l  go  short ,  and the  market  makers
wi l l  buy  longs  in  exchange.  Remember ,  every  t rade must
have  h is  counter  party .
          Then comes the  manipu lat ion  phase ,  here  the
market  makers  are  go ing  to  enter  the  last  b i t  of  the i r
orders  before  tak ing  the  pr ice  to  the i r  target ,  they  wi l l
s top a l l  the  reta i l  t raders  out ,  f looding the  market  wi th
market  orders ,  which  the  market  makers  wi l l  buy  out
ent i re ly ,  and d i rect ly  take  us  to  the  oppos i te  d i rect ion .

          Now that  you 've  learnt  th is  concept ,  you  are
going to  see  i t  everywhere ,  but  t rust  me,  th is  i sn ' t
enough to  enter  a  t rade,  take  th is  vo lume l ike  a  case
study  to  understand how the  market  works  better .
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